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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

Any teacher can take a child to the classroom, but not every teacher
learn.

* must

* should

®* can

* need
Correct Answer :-can
2)
Question Stimulus :-

Fill in the blank with the correct option.

The government provide health care for everybody.
* must
e could
® can
* need
Correct Answer :-must
3)
Question Stimulus :-

Fill in the blank with the correct option.

you tell me the way to the station please?

make him



e Should

® Must

e Might

e Could
Correct Answer :-Could
4)
Question Stimulus :-

Fill in the blank with the correct option.

A small animal was making rustling noises _____the leaves.
* among
* between
* besides
* in front of
Correct Answer :-among
5)
Question Stimulus :-

Fill in the blank with the correct preposition.
A beautiful white bird flew _____ the lake.
* over
* above
®* beneath
* under
Correct Answer :-over
6)
Question Stimulus :-

Fill in the blank with the correct preposition.



He would like to take a photograph of us. Would you come and sit me?
* between
* besides
* beside
* along
Correct Answer :-beside
7)
Question Stimulus :-

Fill in the blank with the correct prepositions.

The child stood silence with his arms folded his chest.
e for, into
® into, under
e with, between
* in, across
Correct Answer :-in, across
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® Jessie and Shauna are both smart.
e But I think Shauna is
* smarter of the two.
* No error
Correct Answer :-smarter of the two.
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e James visited The Hermitage,

* an famous museum

® in St. Petersburg.

®* No error
Correct Answer :-an famous museum
10)

Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.
* He started working for the company in 1995
* and has been there
® ever since.
* No error
Correct Answer :-No error
11)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* He has been watering
¢ the plants
® since two hours.

®* No error

Correct Answer :-since two hours.

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* The film has started

* before we

* reached the cinema hall.

* No error
Correct Answer :-The film has started
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

e If we will catch a flight instead of train,

e we will surely

® arrive on time.

* No error
Correct Answer :-If we will catch a flight instead of train,
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If I won a million dollars,
¢ I would have start
* a business of my own.

®* No error



Correct Answer :-I would have start

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ I was looking at the trees when I fell off the bike.

e If I hadn't been looking at the trees,

e I wouldn't have fallen off the bike.

* No error
Correct Answer :-No error
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The famous actor said, "It gives me great pleasure to be here this evening.”
e The famous actor said that it gave him great pleasure to be here that evening.
e The chief guest said that it gives him great pleasure to be here that evening.
e The famous actor said that it gives him great pleasure to be there that evening.
* The famous actor said that it gave him great pleasure to be there that evening.

Correct Answer :-The famous actor said that it gave him great pleasure to be there
that evening.

17)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Sarah said to her friend "Won’t you help me to carry this box?”

e Sarah asked her friend if she would not help her to carry that box.



e Sarah asked her friend if she would not help her to carry this box.

* Sarah asked her friend if she should not help her to carry this box.

e Sarah asked her friend if she should not help her to carry that box.
Correct Answer :-Sarah asked her friend if she would not help her to carry that box.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Jacqueline said to the watchman, "Did you find the key anywhere?”

* Jacqueline asked the watchman if he found the key anywhere.

¢ Jacqueline asked the watchman if he has found the key anywhere.

®* Jacqueline asked the watchman if he have found the key anywhere.

* Jacqueline asked the watchman if he had found the key anywhere.
Correct Answer :-Jacqueline asked the watchman if he had found the key anywhere.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Will you accept the position?
* Will the position be accepted by you?
® Can the position be accepted by you?
e Should the position be accepted by you?
®* Has the position been accepted by you?

Correct Answer :-Will the position be accepted by you?

20)

Question Stimulus :-



Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Is a letter being written by you?

e Had you been writing a letter?

®* Is a letter written by you?

* Have you written a letter?

®* Are you writing a letter?
Correct Answer :-Are you writing a letter?
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Where can this box be hidden by you?
* Where would you hide this box?
e Where can you hide this box?
e Where might you hide this box?
® Where shall you hide this box?

Correct Answer :-Where can you hide this box?

22)
Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
®* Please give me a red hammer; the blue one is too small.
®* Please give me an red hammer; the blue one is too small.
* Please give me the red hammer; a blue one is too small.

* Please give me the red hammer; the blue one is too small.

Correct Answer :-Please give me the red hammer; the blue one is too small.

23)



Question Stimulus :-
Fill in the blank with the correct option.

"The old couple reminded me of my parents”.
o little
* a little
* afew
* some
Correct Answer :-a little
24)
Question Stimulus :-

Fill in the blank with the correct option.

I'm having a dinner party for _____ close friends of mine at my residence.
°* few
* afew
* the few
* a little
Correct Answer :-a few
25)
Question Stimulus :-

Fill in the blank with the correct option.

"May I askyou__  questions?"
°* few
* afew
* little

e a little



Correct Answer :-a few

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The story of a poor family that acquired fame and fortune overnight,
dramatically illustrates the power of the Press. The family lived in Aberdeen, a
small town in South Dakota. As the parents had five children, life was a
perpetual struggle against poverty. They were expecting their sixth child and
were faced with even more pressing economic problems. If they had only one
more child the fact would have passed unnoticed. They would have continued to
struggle against economic odds and would have lived in obscurity.

But suddenly they became parents of quintuplets, four girls and a boy, an
event which radically changed their lives. An aeroplane arrived in Aberdeen
bringing sixty reporters and photographers. The news became a national
sensation. Newspapers and magazines offered the family huge sums for
exclusive rights to publish their photographs. The farmhouse they lived in was
to be replaced by a new $100,000 home. The event brought serious changes to
their lives and the town itself.

What does the author mean by the expression ‘perpetual struggle against poverty’?
* Continuously facing or fighting with poverty.
¢ Living in harmony and peace.
® Living amid luxuries.

e None of the above

Correct Answer :-Continuously facing or fighting with poverty.

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The story of a poor family that acquired fame and fortune overnight,
dramatically illustrates the power of the Press. The family lived in Aberdeen, a
small town in South Dakota. As the parents had five children, life was a
perpetual struggle against poverty. They were expecting their sixth child and
were faced with even more pressing economic problems. If they had only one



more child the fact would have passed unnoticed. They would have continued to
struggle against economic odds and would have lived in obscurity.

But suddenly they became parents of quintuplets, four girls and a boy, an
event which radically changed their lives. An aeroplane arrived in Aberdeen
bringing sixty reporters and photographers. The news became a national
sensation. Newspapers and magazines offered the family huge sums for
exclusive rights to publish their photographs. The farmhouse they lived in was
to be replaced by a new $100,000 home. The event brought serious changes to
their lives and the town itself.

What is the meaning of the word ‘obscurity’?
e The state of being famous and rich.
®* The state of being unknown, inconspicuous, or unimportant.
®* The state of having unlimited power.

e None of the above.

Correct Answer :-The state of being unknown, inconspicuous, or unimportant.

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The story of a poor family that acquired fame and fortune overnight,
dramatically illustrates the power of the Press. The family lived in Aberdeen, a
small town in South Dakota. As the parents had five children, life was a
perpetual struggle against poverty. They were expecting their sixth child and
were faced with even more pressing economic problems. If they had only one
more child the fact would have passed unnoticed. They would have continued to
struggle against economic odds and would have lived in obscurity.

But suddenly they became parents of quintuplets, four girls and a boy, an
event which radically changed their lives. An aeroplane arrived in Aberdeen
bringing sixty reporters and photographers. The news became a national
sensation. Newspapers and magazines offered the family huge sums for
exclusive rights to publish their photographs. The farmhouse they lived in was
to be replaced by a new $100,000 home. The event brought serious changes to
their lives and the town itself.

What do you mean by ‘quintuplets’?



e Six children born at the same time to the same mother.
®* Four children born at the same time to the same mother.
® Five children born at the same time to the same mother.

e None of the above.

Correct Answer :-Five children born at the same time to the same mother.

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The story of a poor family that acquired fame and fortune overnight,
dramatically illustrates the power of the Press. The family lived in Aberdeen, a
small town in South Dakota. As the parents had five children, life was a
perpetual struggle against poverty. They were expecting their sixth child and
were faced with even more pressing economic problems. If they had only one
more child the fact would have passed unnoticed. They would have continued to
struggle against economic odds and would have lived in obscurity.

But suddenly they became parents of quintuplets, four girls and a boy, an
event which radically changed their lives. An aeroplane arrived in Aberdeen
bringing sixty reporters and photographers. The news became a national
sensation. Newspapers and magazines offered the family huge sums for
exclusive rights to publish their photographs. The farmhouse they lived in was
to be replaced by a new $100,000 home. The event brought serious changes to
their lives and the town itself.

Who brought fame and fortune overnight to the poor family?
* The newly born baby
e The media or press
® The five children
e All of the above

Correct Answer :-The media or press

30)

Question Stimulus :-



DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The story of a poor family that acquired fame and fortune overnight,
dramatically illustrates the power of the Press. The family lived in Aberdeen, a
small town in South Dakota. As the parents had five children, life was a
perpetual struggle against poverty. They were expecting their sixth child and
were faced with even more pressing economic problems. If they had only one
more child the fact would have passed unnoticed. They would have continued to
struggle against economic odds and would have lived in obscurity.

But suddenly they became parents of quintuplets, four girls and a boy, an event
which radically changed their lives. An aeroplane arrived in Aberdeen bringing
sixty reporters and photographers. The news became a national sensation.
Newspapers and magazines offered the family huge sums for exclusive rights to
publish their photographs. The farmhouse they lived in was to be replaced by a
new $100,000 home. The event brought serious changes to their lives and the
town itself.

Which event completely changed the life of the poor family that lived in Aberdeen, a
small town in South Dakota?

* Arrival of sixty reporters and photographers.
e Birth of quintuplets.

* Money given by Newspapers and magazines.
® All of the above

Correct Answer :-Birth of quintuplets.

Topic:- Hindi
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27)

Question Stimulus :-

RPIdF T ‘A’ & forew fAg A | Tad fAeeu &1 99+ Fifome-
o JyEferd
o T

e Uh el dI ATH



Correct Answer :-3ydferd

28)

Question Stimulus :-
MEd® R ‘FOI & fore A & A Taq fawew &1 99+ B -

o HIam
* =
° W
o Ty
Correct Answer :-3i<d

29)

Question Stimulus :-

fra fapwul & A U aray A8 €, Ig) a1 BT I Biore-
o Yt At F yardt 8
o Hifq AT H uwil
o Hieft AR & verar @
o A W9 A gerdt 7
Correct Answer :-Hidl ¥t # uerar &

30)
Question Stimulus :-

ru & q v ar9g Tad g, e a1 BT 999 Pifore-
o g9 Tl A AT §
« ¥ Ha a1 AEAT §
. IS 4w & wga? ?



Correct Answer :-dH Tl A SATT E

31)

Question Stimulus :-

T S 1 81 AT § 979 $T PR Ugdre-

Correct Answer :-f[qga®

32)
Question Stimulus :-

ru & 9 Ta 919 BT 9T Bifere-
o 3 UGl ¢
o Giqq a8 PTA & o9 TR BT Frwior gar @
o i G B a1 TR
o 31y g1 fr a5 gR M
Correct Answer :-3{211% Ugdl &

33)

Question Stimulus :-

9 ¥ g ad+t uganfAe-



Correct Answer :-3ifgdig

34)

Question Stimulus :-
fora & argres ad+ ygEnfe-
o USIaferd
. I
o FOTHTST
o Vicddlq
Correct Answer :-goTHTHT

35)
Question Stimulus :-

“IHS! ST W GHS A A drpited o1 3 3-
* AT H[H T
o Jftre IAfd g
* TR & fog @R BT
o YR ATH BT
Correct Answer :-3fU® Hod gl

36)

Question Stimulus :-

o # ot I T F@T AT §
o H o Mierar g @it §

o ¥ WAl [ W Y TG THal §
A RAA IR TTaHaT§



Correct Answer :-89 &t Mferar T-I'sﬁ @t %

37)

Question Stimulus :-

“fad ug df §¥ A dieifad &1 oY §-

o TSGR H BTH BT

. JHEM ST

« TP HIY & BH B

o fauftr 989 W TR BT TR BT
Correct Answer :-Holgil # HTH HIAT

38)

Question Stimulus :-

g srgde &1 Heuur Fifere-

- ‘aﬁmaﬁ;—a@gﬁmﬁmﬁﬁ%@%mﬁﬁmaﬁmaﬁﬁéﬁ?maﬁﬁm%

o1 eafe wad [ & fiR ved § Afe
afrgef gt g1

« 99 f&71 ¥8d 9 TH qHEH
* TR UG PR Tga¥
o g ®I 3T TE
. T A B T
Correct Answer :-UR JUSY A Tga¥

39)

Question Stimulus :-

e ugell & W) SR &1 A P -
T @d HAs gl Bl Biel|
PTAT Wd HAs W BT ol

o HU MY 3P

3P 3§ F gaE 3d 21 T AN P Sfiaq Sa-due



¢ HUN 3R 3R
¢« IRE IR RSP
o 3T 3R HUNT
Correct Answer :-®UTH 3R 3P

40)

Question Stimulus :-

............. IR TRUT qTelT FHATDT TG & SHP TS IR0T & 28 AETY gidt & o 39d 16 auT
12nmaﬁwuﬁr3ﬁt%| — gf¥uTuT f5 &g &t 82

Correct Answer :-giRfifasT

41)

Question Stimulus :-

PH-I T ST USRI AR A AT 8 ?
° a-\HﬂT

Correct Answer :-41Ul

42)

Question Stimulus :-

v fameu”’ f5a e A ySIRE giar € ?
. fafe=m



Correct Answer :-fafe=m

43)

Question Stimulus :-

YR a1 F 3 F fra form firg 1w g @ 2
o uf R
. U fag
. fwrdieive fos
o UfaRTH
Correct Answer :-Juf favTH

44)

Question Stimulus :-
o a1 & o § oF-u1 farm foeg omam 2
“FIT gH S g fob gureeEt st fadwr o v 8
. of faRm
o« URaTE® I
. fowmaifesiys g
o JSfARTH
Correct Answer :-U¥ara® fasg

45)

Question Stimulus :-

o fafaa 6 areai=n # @ uyw 9 sifaw A3 &, v & 3 v A sgafRua el
(1) 9IS Sftaq |



(T) HIY B T RIS ISl &

(}) AT GRI & GRT UgdTY 1 a1 98 @
(@) afg wry T g at

(3) 81 9 =R fAgfa &1

(6) SUM & 7 BT TP
e dydd
e ¥Ydd
e IYAY
e JgdNd
Correct Answer :-Y ¥ d

46)

Question Stimulus :-

g forfaa 6 argai=n & | uyw g Sifow fAfda €, v o e w9 # gy Fifvm]
(1) W-UH &

(T) ARSI A I &

(X) Har

(1) STe™ W

G ERICCAIER

(6) ¥ ¥ ST T fobar g

e dg
e gV dd
e AT
e dR¥UY
Correct Answer :-d g d

47)



Question Stimulus :-

‘Superannuation’ g &7 3 §-
. Jar-Frahy
o Sfferarffet
. q@EiE
o Har-s@afy
Correct Answer :-dai-fAgf

48)

Question Stimulus :-

‘Allegation’ ¥Tsg &7 9a! f&d) yufy
« 3RIY
o SMFART
. qufifs
. i
Correct Answer :-3RIT

49)

Question Stimulus :-

UTHIRAE oo & TR “HTHT BT KT Uil | ghar 3, 3P T Uelts sqafyd qrds
qUT AYOd SANd gid 2|

o 3T dds ATy XAl
o 1. AT GG
o 1. QENTY Uisy
o SI. IAHATY A
Correct Answer :-SI. :AHY Uisd

50)



Question Stimulus :-

Sedl fay =t TwasT ol gam ur?

Correct Answer :-faed

51)
Question Stimulus :-

| vrar & fofy smeht & gféoh o & fasRma g82

Correct Answer :-5H3dS

52)

Question Stimulus :-
HHIEH & W U § ¥a1 A {5 iR fora mar 32
o TRl 3R
o <l 3R
o el ot
o R & iR

Correct Answer :-sifl 3R

53)

Question Stimulus :-



foft efaeiRre, Mifore ar s fye uer &1 auiF .............. e~ sgaar g1

* YAdIHP

Correct Answer :-fdQ@uea®

54)

Question Stimulus :-

fe TRT Hfaal Bt HEICT 7 Al Fa= T B FEIET g7 FYA [FaDT 82
o I gAY UvEy
o 3TATd I TH FIA
* ST
o 3T S
Correct Answer :-3marf IW T Yo
55)
Question Stimulus :-
‘B G T FIAd 37 IGAT & TSR BT A1 gie-
o RIIRM™ IR T
* HERATY AT
o gRax I T
o RS FUR AR
Correct Answer :-3gRATY 3Iard

56)

Question Stimulus :-

“oRTA” &t derl g A A 9 8-



o zRUTH
o ugd TR
* 3(UHT 3UAT YR
* graren
Correct Answer :-aq3l 99R

57)
Question Stimulus :-

e ¥ 3 o areg o farm el &1 98t v gam 82
e 3T IS YT & g+ a1d & |
e 3TY! TG YT & I a1t & |
e 3MTY IMTYG! YT & 3§ a1d &
o 3T TIS YT & Tg a1 &2
Correct Answer :-3T0 2[TI¢ YT & ¥gA aId g2

58)

Question Stimulus :-
“qaH! AT JHFET e 7 F f5 geray &1 o 8-
. S
* 3 BT G BT
* TH-TP DI &@l
o T A BIS TR
Correct Answer :-3# ¥ @Ig 76l

59)

Question Stimulus :-
@eTs § usHr &1 98 Iy 2-
o UIATAl BT



T H USI
« §gd BE B
o IHAH g
Correct Answer :-FHd # TSl

60)
Question Stimulus :-

SIgT ISdl TR a1 &1 3RIY g1 3ufd 5 wipfae Sure i W Arqdta fhansit s yraarse &1
3MRYIY BIAT & TBT weernnnrnnnnns 3@PR gidaT gl

* TWd

Correct Answer :-HHdIgH

61)

Question Stimulus :-
@l gg afaer Wt wR @,
AY gpd dad I TR

JaTexUl -
* HHEIGPHIU ABR BT
* IFG IABR BT
* Tdld ABR BT
o YifdHT SRiHR BT
Correct Answer :-3FdigeRl ABR B

62)

Question Stimulus :-



Y T 3MTST TTT At |
| ST HIHFT 71 1|
& 1Y A 499 urd|
ISR dTg dl AT |
g8l 3¢ I Srd1”

fF ¥ T IeTeR B-
* JUNT YR T
o fqghT IR @
* YIFF T
o U A B T
Correct Answer :-faai R

63)
Question Stimulus :-

v P} frg oxg sryar @y o & aiffee &Y amieT a1 371 fA9T=T [ “gag &Y W ety {ar 8, 81 f59 w9 $t
foafy g 82

o JIn v
* YIHP
® HHUI I
o JyE ¥
Correct Answer :-&30 39

64)

Question Stimulus :-

frufafea # 19 w1 s W A6 o1 Sag 78 32
o 3y

o T



e HARY
e M
Correct Answer :-HIRY

65)

Question Stimulus :-

' guf 2-

Correct Answer :-g<dISad

66)

Question Stimulus :-
‘gelt’ # fbat e auf 32
. gl
e IR
o dH
e UM
Correct Answer :-tiq

67)
Question Stimulus :-
A& Y’ H WU -

o B dYTY

o UG dYY



o TR YT
o JFYHI TYTY
Correct Answer :-3Ulqld dJ>4

68)
Question Stimulus :-

o 2t g & fadpedl d & I3 Te fAeey w6t 761 31 Tad T FT 997 HIforg-
. SF-3a
. 3F-3Y
o JTHR-IMHId

Correct Answer :-3THR-3THId

69)

Question Stimulus :-

o e & wft weg oifr & vafgarh 2-
* 3T, UTde, &, AT
* UG®, g§H, T8, dmaed
® 1, 34, SqTdl, PRMY
* AWM, YAy, Iaq, s
Correct Answer :-Uid®, ¢gd, 98fq, dided

70)

Question Stimulus :-

urdt 1 e grT:-



e Jad 9t
Correct Answer :-3&d 9l

Topic:- General Knowledge
1)

Question Stimulus :-

Madhya Pradesh got the Best Tourism State award in__. / "% U &1___ H Y49y yded 34
RIHR e

® 2015

® 2013

e 1998

® 2000
Correct Answer :-2013
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below: / IEe k|

e o = fRE v Fiel & YR R I SR FT 999 I

List-I List-11I
1. Kerala a. Durgiana Temple
2. Uttar Pradesh b.Tirupati Temple

3. Andhra Pradesh c. Sankat Mochan Temple

4. Punjab d. Padmanabhaswamy Temple
gfa-1 gf-11

1. Hd a. ghfamT wfeR

2. IR UGN b. fowufa wfeR

3. gy c. Tde dia HieR

4. U d. TRFETHET AR

® 1-d, 2-c, 3-b, 4-a

® 1-d, 2-c, 3-a, 4-b



® 1-c,2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

What is the chemical name of bleaching powder? / ST USSR &1 INTAf~® AT | %?
e Calcium dichlorite / BeRIT STEFARTEE
e Calcium chlorite / PTeRITH a?ﬁ?lg?
® (Calcium hydrochlorite / Ffermaw glg@ﬂ?ﬁ?lgf

® Calcium hypochlorite / Care) HELIESIRES
Correct Answer :-Calcium hypochlorite / o] HENIESIRET

4)
Question Stimulus :-

The best among all types of coal is /qft Sigd § S IqqH Hraan %
e Peat/UlE
® Bituminous coal / ﬁgﬁ‘—ﬁ Praar
® Lignite | ferarse Y1 m(
® Anthracite / Q%W'I’Q‘?
Correct Answer :-Anthracite / GUTRITSC
5)
Question Stimulus :-

BSNL Mobile was earlier known as . / 9..U9.UA.UE Hi9Ed Ugd
ST SITdT YT

® MTNL

® Sellone

® (ellone



® Brief Soft Nice Line
Correct Answer :-Cellone
6)

Question Stimulus :-

LAN, the full form of which is , is a computer network that interconnects

computers within a limited area. / aT-r, thﬂfw% ’ WWW%@[%WW
a7 & iR e wWaER Sisd B

® Least Area Network / ®I€ QﬁTIT Acad

® Local Area Network / @&d Q'P{QT Acad

® Largest Area Network / Aol 'QﬁTIT Aead

® Local Attachment Network / @&d 3f¢gdT Acad

Correct Answer :-Local Area Network / A d Qﬁ'{ﬂ Acad

7)
Question Stimulus :-

The river often referred to as Vridha Ganga or Dakshina Ganga is / PIAT 9K T 91 E'fEI'UT T

FgaT aret T4 §
o Cauvery/aﬂaﬁ
® Mahanadi / HGT-!
® Krishna / $SOT
® Godavari / Tgrad!

Correct Answer :-Godavari / TIGTas!

8)
Question Stimulus :-

Mangrove vegetation in India is most extensive in ./ HURd o A9 awfa 99 it
S # 3

® Malabar / HTAIHR

® Rann of Kutch / P & 30T



* Sunderbans / gG¥a

® None of these / §H § ®Ig Wl &1
Correct Answer :-Sunderbans / g3a-d
9)

Question Stimulus :-

Which Indian state is surrounded by Bangladesh on three sides? / DI 9T YR sy A4 iR ¥ rarewr 3
RrTgem

® Tripura/ ﬁ'ﬁ?T

® West Bengal / % A
® Assam / 3[THTH

® Mizoram / ForeliR®

Correct Answer :-Tripura / FIGRT

10)
Question Stimulus :-

Which state has the maximum forest cover in India? / HIRd & g g ° SfSdH a9 Smarur %'?
e Karnataka/ HACH
® Maharashtra/ 'H?'R'I'g
® Madhya Pradesh / HH T
® West Bengal / ¥y S
Correct Answer :-Madhya Pradesh / A4 UeXT
11)

Question Stimulus :-

Which of the following States is on the border of Jammu and Kashmir? / f7 9 # 3 B Q1IN S ] iR
SR o A W &2

® Uttarakhand / 3XIRTWUS

® Punjab / GSlTd



® Chandigarh / T:I'Ué'h'la'
® Haryana / E'F{CITU'IT

Correct Answer :-Punjab / GSITd

12)
Question Stimulus :-

The Greeks referred to this crop as ‘Sindon’ derived from the word Sind. Which crop is this? / IIT'I'I'ﬁTﬁ a3 EXl

wada & “RithT & w9 A Iwiiad fFar ot fF e Riv & god 81 a8 woa &1 A1 @2
* Rice /dTdd
® Wheat /g
® Cotton / HUTH
* Jowar /SAR

Correct Answer :-Cotton / PUTH

13)
Question Stimulus :-
Which city is known as Orange City? / P9 I QAR 3ot Fdt & =u & ST ST %?
® Kanpur / PTIYY
® Nagpur / IRTYR
* Nasik / ATRIS
® Mumbai / ga'é

Correct Answer :-Nagpur / RTYR

14)

Question Stimulus :-

Which is the world’s largest freshwater lake by surface area? / AThd & e I §ﬁTIT P ga TSI a
urit B gha a1 3 32

® (Caspian Sea/ ST aR

® Lake Superior / ® gtﬂﬁ‘q'\’



® Michigan Lake / RG] gﬂﬁ

® Great Slave Lake / 1)1' ﬁa @?T
Correct Answer :-Lake Superior / A% gl'ﬂﬁﬂ'{
15)

Question Stimulus :-

Amongst the following which is the largest island? / g A @ 99 91 gad 98T L %?
® New Guinea / ?lﬁlﬁ'{ﬂ
* London / WS
® Japan / SITUTA
® China /94

Correct Answer :-New Guinea / < fif=rar

16)
Question Stimulus :-

2019 cricket world cup will be held in which of the following countries? / 2019 fohdbe T
Y g 7 9 o149 4 3w § maifora fear e

® India / HIRd

® South Africa / 9T\$%HY GIﬁWT

® West Indies / IR€ §aIol

® England and Wales / s'ﬁugéﬁ?aﬁ‘r
Correct Answer :-England and Wales / $7dUs 3R 3e9
17)

Question Stimulus :-

Which country has won the ICC U-19 Cricket World Cup 2016? / ani 3t «t g-19 fphe 9os ®U 2016
foram sftar 82

® England / 3'"%3'

* Bangladesh / STl o



® [India / HIRd
® West Indies / 9% E@T’T
Correct Answer :-West Indies / 93¢ SS9l

18)

Question Stimulus :-

Rajiv Gandhi International Cricket Stadiumisin ./ NEICRIL) GI?IT‘:@TI fopdbe wfesam _ | %I
® Bangalore / UK
® Pune / Tﬁ
® Ranchi/ OIE |
® Hyderabad / %m'l_d

Correct Answer :-Hyderabad / SRTETG

19)
Question Stimulus :-

How many players from 1 team can be on the court in a Basketball match? / TPcad AT A 1 9 A

fpan faes) #1¢ & 81 9o 32

Correct Answer :-5

20)

Question Stimulus :-

Who has been appointed as the chairman of the ICC Cricket Committee? / P &ns‘;ﬂ'\tﬂ fpde wfufa & A& &
wq ¥ forga foram m 32

® Anil Kumble / 3fva W

® S M Gavaskar / T TH TTdEHR



® Saurav Ganguly / IR Tt

® Ravi Shastri /T% TR
Correct Answer :-Anil Kumble / 3f-1d $ad
21)

Question Stimulus :-

Which of the following countries has the world’s largest railway network? / fadafeaIwd gﬁﬁﬂ Cal

G 9T Yo7 Acad o2

® India/ HIRd

® (Canada/ TSI

® Germany / STHAI

* USA/Y.UH.U
Correct Answer :-USA /4,U4.¢
22)

Question Stimulus :-

Which among the following countries is the largest producer of Wheat? / faAd s ATy
g &1 99 981 IAUGP 32

® India / HIRd

® Russia / ¥

® China /94

® France / I
Correct Answer :-China / W
23)

Question Stimulus :-

What is the full form of the recently launched “E-enabled application” PMIS, to monitor all ongoing railway

projects online? /Wﬁﬁ?ﬁag "&F-QT&‘I'H Gﬁa'c{-'-l' PMIS, mrtmqmam%, -1 3ifaRd Yo uRaisrrai
B! affTars IR & e @2

* Project Module and Information System / Wivide Aisyd US SAWHRM Ried



® Project Mechanism and Indicative System /tﬁﬁﬂf ﬂ%ﬁﬁq QS' 3'%%?&3 Riew
® Project Monitoring and Intelligence System /Iﬁﬁﬁf AT TS Eéﬁﬁ'\q fwew

® Project Management and Information System /L'ﬁﬁ?E' AT s Wﬁm fwq
Correct Answer :-Project Management and Information System /&ﬁﬁﬂf AeHT s W‘ﬁ'!{ﬁ fen

24)
Question Stimulus :-

Mukkurthi National Park is located in which state of India? /H?Qﬁ?'l'@'qm YRd & fra wea § fRya 82
* Tamilnadu / AA@ATg

® Maharashtra/ HgIRT§

® Guijarat / [SIRTd

® Rajastan / ITSTRIT
Correct Answer :-Tamilnadu / @@ g
25)

Question Stimulus :-

The blue colour of the Mediterranean Sea inspired whom to discover his Nobel Prize- .
winning theory? / Tiad ¥R fafSra Rigia #1 @e #7d G0a $1F9 | a7fAe YHEarmR & Hid 319
ofRa gu 342

® C.V.Raman /3. ¢t 84
® Isaac Newton / IV Y

¢ S. Ramanujam / @Y. ITHTISTH

® Archimedes / 3fHHISS
Correct Answer :-C.V. Raman / 1. 9t T09
26)

Question Stimulus :-

Who was the first Delhi Sultan? /ﬁﬁ DT UYH Jedld I UT?

® Qutb-ud-din Aibak / PII-3¢-SI- CIPH



® Babur / dTe}
® Ibrahim Lodi / SHTIeH @G
® Sikander Lodi / ﬁqw ?ﬁﬁ
Correct Answer :-Qutb-ud-din Aibak / PII-3G-oI VgD

27)
Question Stimulus :-

Who wrote the famous patriotic song “Sare Jahan Se Acha Hindustan Hamara? / IC:El s %QT-‘-T%T a

«{qIR S5 A 35T o3Il gART ferar ur?

* Rabindranath Tagore / YA&TY MR

® Sarojini Naidu / IR arag

® MA Jinnah / QH.T forar

® Allama Igbal / 3ATHT SHETH
Correct Answer :-Allama Igbal / 3[TATHT SHATA
28)

Question Stimulus :-

Who was the first Chief Minister of Gujarat? / J[SIRTd & Ul 'ﬂ'@Tﬁh DI A2
® Jivraj Mehta / SaRTol Agdl
® UN Dhebar /g.TT &R
® Chimanbhai Patel / ﬁm‘—rﬂ-n% Ucd
® Keshubhai Patel / %sgmné ucd

Correct Answer :-Jivraj Mehta / SHaRTST AgdT

29)
Question Stimulus :-

Who is considered the father of Biology? / 9 fay< &1 5o f&d ®er ST 82

® Aristotle / 3R¥]
e Linnaeus / UGEER



® Theophrastus / fysnibwey

® Mendel / H8d
Correct Answer :-Aristotle / 3%
30)

Question Stimulus :-

How many spokes are there in the Chakra on the Indian flag? / YR gl # IufRyd I A
fra-t diferar 82

°* 20

° 34

° 22

* 24
Correct Answer :-24
31)

Question Stimulus :-

Which among the following is the highest rank in Indian Air Force? / g & Q 9 91 URdg
g {1 § Jare ug 82

® Air Commander / T4 HHISY
® Air Marshal / TUR Hrefa
® Wing Commander / fa pHIER
® Group Captain / JU %ET-I
Correct Answer :-Air Marshal / T9% HTRIA

32)

Question Stimulus :-

Jobat is an irrigation canal in the river Hatni, This is a right bank tributary of . \_rﬁW, EET'ﬁ ad H Udh
R TR R, g8 ¥ arfen R R e were A B
® Tapti / G|

® Narmada / qﬁﬂT



e Son /¥
® Yamuna / G{-T

Correct Answer :-Narmada / THST

33)
Question Stimulus :-

Jatiyo Sangsad is the supreme legislative body of
® Burma / Tqf
® Germany / S+
® Bangladesh / CIRGIEA
® Cuba / &4l

Correct Answer :-Bangladesh / ET'?I'I%QT

34)

Question Stimulus :-

_ /ordgEge. @ gare faurdt e g

The lion capital of Sarnath is a specimen of the art of which dynasty? / HIRATY BT ﬁ%ﬂg’{[’@ =AY for

TSTERT B HAT BT LT 32
® Gupta / Wl
® Maurya / wiraf

® Maya / HIIAT

® Kushan / $UIT

Correct Answer :-Maurya / Hi4f

35)

Question Stimulus :-

Arya Samaj was started by / T TS & GRT URY fopar mar ot

® Swami Dayanand Saraswati / Wl guTe g

® Basavanna / SHAT3{HAT

® Swami Vivekananda / qrHt ﬁaﬂﬂ':ﬁ{



® Guru Nanak /¥ AP

Correct Answer :-Swami Dayanand Saraswati /W’I’lﬂ ST It

36)
Question Stimulus :-

World War I was fought in which continent? / frg q?l_sﬂ'q H gy ﬁ%’ Y& ST T U1?
e Asia/URMET
® Europe / W
® South Africa / EfEI'UT 3BT
® Australia / GI:IJQI%ITIT

Correct Answer :-Europe / JR14

37)
Question Stimulus :-

For which film did Javed Akhtar win his first Filmfare Award for Best Story? / \‘:nﬂa 3EAR Bl '\‘ﬁ-a’g ﬁFﬁ &

fore ugen fread iR e R 5w fivew & g frar are
e Sholay / ¥ital
 Zanjeer / WOIIX
o Silsila / RrafRyer
® Deewar /GIARR

Correct Answer :-Zanjeer / SioilY

38)
Question Stimulus :-

Where is Sardar Vallabhbhai Patel International Airport located? / d¥aQIY W‘H"ﬂg ued GI?R'T@T{ 331_2%3@
Fgl A 32

® Ahmedabad / feHGIdIg

® Goa/Tal
e New Delhi / 73 feeei



® Raipur /MY

Correct Answer :-Ahmedabad / [gHGIdIG

39)
Question Stimulus :-

Which Country has the largest postal network in the world? /m a'SZT H ﬁ%’ PT Jad dST STh SITcIshH %?
® India / HIRd
® America / 3rAfyasT
® Japan / SITUTH
® Russia /™Y
Correct Answer :-india / HRd
40)

Question Stimulus :-

For which of the book did Jhumpa Lahiri win “"The DSC Prize for South Asian Literature” in

20157 / 2015 & g1 A1t & STt B W frae & g "Sewd glor R aite Rwere @

BELGLIRIE I g
® Only Goodness / 3Tet '{E’ﬁﬂ
® The Lowland / G @IS
® Unaccustomed Earth / 3 3[@ets 34
® The Namesake / § AHA®

Correct Answer :-The Lowland / @IS

41)
Question Stimulus :-

The name of which percussion instrument literally means ‘made of clay’? / d¥Jd: o aTerare & =9 &7

frdt &1 a9 82
® Mridangam / JGTH

o Sitar / FRIAR

® Tabla / dddl



® Ektara / UhdRT

Correct Answer :-Mridangam / J&H

42)
Question Stimulus :-

Who was recently appointed as the Chairman of Central Board for Secondary Education (CBSE)? / W

wreafire e ufvug (CBSE) ST Aaf-gad sIeael S U1?
® Dinanath Batra/ zﬂ=r|=nu CEI
® Rajesh Kumar Chaturvedi / I $HR aqdal
* Rita Bhauguna Joshi / ST IgTUM =it
® RS Sharma / 3R T TA{

Correct Answer :-Rajesh Kumar Chaturvedi / IO $UR Tgadt

43)
Question Stimulus :-

Who is the Chief Information Commissioner of India? / URd & HBT AT T D 82
® Anil Goswami / 3ff=re Tt
® YVijay Sharma / faerg =m@f
® Shashi Kant Sharma / X3 &id T@T
* R K Mathur / 3R & HIYR

Correct Answer :-R K Mathur / 3R & TR

44)
Question Stimulus :-

The original name of UNICEF is / '{ﬁl@w dT o 3rdf 82
* Unique Nations Children Emergency Fund / gi& GRIE] fIes+ SO e
® United Nations Children’s Emergency Function / Tl'l?ﬁg BRI ﬁl@ﬁl SRS HaRM

® United Nations International Children’s Emergency Fund / ‘TI'IE%?; XM §eAYd g ELRE |
L]



e United Nations Charity Energy Fund / gAT3¢s A% aRd} Teil ws

Correct Answer :-United Nations International Children’s Emergency Fund / 1]313%?5" XM geAYd

fireg—a gwveiell B
45)

Question Stimulus :-

World AIDS day is celebrated on / fay veH feaw S T 1T B
* December 5 / 5 fduaR
® November 1 / 1 A9d&R
® Decemberl / 1 ﬁ'\‘lﬁ?
® Junell / 11 ﬁ?ﬂi

Correct Answer :-December1 / 1 feqwax

46)
Question Stimulus :-

Tomb of Tansen is located in__. / d939 $THGRI_____ § fRT g1
e Gwalior / TTFORAR
® Indore /s"cﬂ?
* Ujjain / I
® Morena /'ﬂa_'ﬂ

Correct Answer :-Gwalior / T@ITerIR

47)
Question Stimulus :-

Narmada squeezes through a narrow gorge carving through marble formation
on both sides. This can be seen in the district of / 7 A T TRE FWTHIHR B
PP TPH TP Ut A Ryps ot 31 39 = o & T o gt @

e Ujjain / 3=
e Ratlam / vgam

e Dhar / 4R



® Jabalpur / STd¢TYY

Correct Answer :-Jabalpur / SIdclyY

48)
Question Stimulus :-

Name the important river that flows through Maheshwar? / YR I 984 areft 'Fl's'ﬁq:tlf T BT

¥ A |

® Narmada / qﬁET

® Kashyapa / U

e Ssindhu / RIS

® Tapti / arait
Correct Answer :-Narmada / THal
49)

Question Stimulus :-

Which is the highest peak in Madhya Pradesh? / HAWSRT # Ja4 3= RRGR #1941 82
e Lady Hill / @S} udd
e Kaimur Hill / 3 tdd
e Dhupgarh Peak / Wﬁl@?
e Mount Logan / HId¢ @H
Correct Answer :-Dhupgarh Peak / %LEFE'QRER

50)
Question Stimulus :-

The Nawab of Pataudi who was born in Bhopal was / viure | aET Y uﬁﬁ & 9919 q 1
® Mansur Ali Khan / R 3t @
® Muhammed Abdul Ali / 'Fﬁm Sfogcl 3reft
* Wajid Ali/ aTfore 3reft
® Jahangir Muhammad Khan / WﬂT 'Fﬁﬂm ECIG]



Correct Answer :-Mansur Ali Khan / Hg3 3t @

51)
Question Stimulus :-

The lines j and k are parallel. Then the values of x and y are

/j R KkITE THIR I A x Ry F AE &

(Fx)°
(2x)

X =36%and Y =720 / x = 36° 3R Y =720

X =369 and Y =829 / x = 360 sk Y =820

X =72%and Y =369 / x = 720 ik =36°

e X =82%and Y =36% / x = 820 sk Y =36°
Correct Answer :-X = 36%2and Y =729 / x = 362 3(R Y =720
52)

Question Stimulus :-

Value of 30 —(75+-15)+20=__ /30— (75+-15)+20PTHIH=__
® +45
e .35
® .55
e 55
Correct Answer :- 55

53)
Question Stimulus :-

Choose the correct answer and fill up the blanks. / T8 3R g iR aa =M
Ui |



765 (1365 - 1365) =

e 153

e -153

e 0
L

e —153

Correct Answer :- 0

54)

Question Stimulus :-

17 17
Write the numerical coefficient of x> in 5 y2 x3 z%/ 5 y2 x5 2% &1 Y&ITHD

Ui fafed

o Ty224
L
° 5y2
E
o 5 Z4

Correct Answer :- °

55)
Question Stimulus :-

Which of the following expression contains only like terms? / ek E kank:
YT o Had A U AT 82

5x2 + 4x3+3x%, 5xy -7xy +11xy, -5x3y 2 -5x3y4 -5x3y3
o 5x2 +4x3+3x2
e -5x3y2-5x3y -5x3y3

® Sxy-T7xy + lIxy



* -5 5xy
Correct Answer :-5xy — 7xy + 11xy

56)

Question Stimulus :-

Students of class 8 were asked to give their options for ICSE, CBSE or IG. The options are
shown in the Pie Chart. If 80 students have opted for CBSE find the total number of
students in class 8? / %&T 8 & BTl &I ICSE, CBSE IT IG & ford 3ru+ fawed 31 &t &g T4l fawew
gads 91 A AW A €1 afe 80 ST A CBSE &) 1, df H&l 8 & STl #1 a T=I FAw1ierd?

e 500

e 200

e 100

e 160
Correct Answer :-200
57)

Question Stimulus :-

Diagonals of a parallelogram ABCD intersect at O. If ~.BOC = 90° and «BDC = 509, then
<OAB is equal to / FuFiR agds ABCD ¥ fawuf 0 W ufasdg wva &1 afe
+,BOC = 90° 3R ~.BDC = 50°, df LOAB P W 8

e 900
e 500
e 400°
e 100
Correct Answer :-40°

58)

Question Stimulus :-



Ram can finish a work in 18 days while Bhaskar would have completed the
same work in 15 days. Bhaskar worked for 10 days and left the job. Under this
situation it would take days for Ram to finish the remaining work.
/ 3 fet &1 3t 18 @9 § [T 7% Tt @ Wi URAR A S Frd B 15 R A wr
ferar graT1 4B A 10 T ® frar 3R Faum BYs fean 59 uffRufa #, I & v wrd
RT HA | fe1 @

® Sdays / 5 f&

® 6days / 6 fea
® 7days /7 ﬁ=r
® 8days / 8 ﬁq
Correct Answer :-6 days / 6 fa1

59)
Question Stimulus :-

Name the point that lies in the fourth quadrant of a graph? / dg ﬁg a?nsﬁ S IT% & DY U A R 82

¢ (85

8,-5)

* 45

°* (8,4
Correct Answer :-(8, -5)
60)

Question Stimulus :-

How many cubes of side 3cm can be made from a cuboid of sizel0cmx 6cm x9ecm? / 10ecmx 6¢cm x9cm ¥ MY &

AR | 3 Ft Yol & fba 991 910 & 9 d &2
e 10
e 20
e 30
e 60

Correct Answer :-20



61)
Question Stimulus :-

The first Indian Astronaut / 94H HRAIT dReaE &

Kalpana Chawla / ¢l dTddl

Rakesh Sharma / I AT
Ravish Malhothra / 41 HegAT
Sunitha Williams / gtar fafer

Correct Answer :-Rakesh Sharma / JH AT

62)

Question Stimulus :-

Metal M can be displaced by metal N, but metal N cannot displace metal O from its salt solution. This means that the
increasing order of their reactivity is / YTq M, YTd N GRT fawnfug &1 o 9ot 8, afe YTd N, UTd O DI 3B
aur faaaa A faxifa 78 &Y Il SYPT Aaad @ & ST upifaedr o1 9¢d1 HH 8

e O>M>N

® N<M<O

® M<N<O

® O<M<N
Correct Answer :-M<N<O
63)

Question Stimulus :-

Identify the CORRECT statement: / 98! &Y= UgdIu:
® Pluto is the farthest planet in the Solar system /fo ﬁ? gfarR # o¥dH g %
® The tail of a comet is always directed away from the Sun / W 4| f{:@' Eﬁ?ﬁ QI& I -3 ﬁ%.fifra Eﬁ?ﬁ %
® The Sun rises exactly in the east on June 21 / 21 S{ Ca| H& 3t® Qﬁ H 3T 8
® The distance of the Sun from the Earth is 8 light years / ?Iff Cd| T{'&ﬂ q ﬁ'& 8 W11 Y @

Correct Answer :-The tail of a comet is always directed away from the Sun / ﬁ{ﬂ%’_g' L4 1;'35 ga=n ?-Bf | [
R gt &



64)
Question Stimulus :-

The method of separating two liquids based on boiling points / E.Pf %dl B I9b PYATH] b MMYR W
Y H ot faf g

e Distillation / THdA

® Filtration/ ﬁwa‘—r

® Evaporation / dT]

e Condensation / g

Correct Answer :-Distillation / 3THd"

65)
Question Stimulus :-

Bases have taste and feel./ &‘I'R)f Ca) g Gﬁ?'

s et al
e Sour, soapy / g, Wa@f
e Sweet, slimy / HiaI, s@ufed
« Salty, corrosive / TH®IH, G&RD
e Bitter, soapy / P&dl, dAlqd st
Correct Answer :-Bitter, soapy / $&dl, dldd ot

66)
Question Stimulus :-

The acid present in tamarind fruit is / EL ]| T R S 9TeT S %
* Tartaric acid / TER® 3T
« Oxalic acid / 3TeAfID 3
® Citric acid /'x‘ﬂ%ﬁﬁ ST

® Acetic acid /Qﬁlﬁﬁ 3+



Correct Answer :-Tartaric acid / TIER® 3F

67)
Question Stimulus :-

The term that best describes the relationship between the shape of the active
site of the enzyme and the shape of the binding site of the substrate / dg Ug il
w%aﬁg&m%mwmﬂ?aﬂﬁm%m%aﬁa%wammmﬁ
faavor wwar

Complementary / R®

Supplementary / 9P

Strong / Heldd
Neutral / IeRIA

Correct Answer :-Complementary / R®

68)
Question Stimulus :-

Barbara McClintock received the Nobel prize for the discovery of / IREA Apfaadeie
Cg| P G & o Ted REPR foer

* Mobile genetic elements / Tfaxfia TdRF d@
 Restriction endonucleases / Ufd§¥ TSI_gaiIgH
e Split genes / faufed s

e Molecular structure of DNA 3ITAT $1/ 3A10g®H TEAT

Correct Answer :-Mobile genetic elements / fasha arra-qﬁm dod

69)
Question Stimulus :-

Which cell activity does not require the supply of ATP? | PIRPT B HiF A fafaf #
It @Y Sy B sraxadar AL 82

e Passive transport / ffsra sfrma=

e Cell division / PIR®T fAUTSH



e Active transport / Tfehg fHTHT

e Protein synthesis / M AZayor
Correct Answer :-Passive transport / fAferg sifirm=
70)

Question Stimulus :-

The opposite of ventral is / 3R &1 faudia

o Posterior /UY

o Anterior / qdadf

e Lateral /UT%d

e Dorsal /q@'q

Correct Answer :-Dorsal / 81T

71)
Question Stimulus :-

The average weight of 10 students is 25.5kgs.If the teacher’s weight is included then the average increases
by 2.5kgs. The weight of the teacher is? / 10 S BT 3N aoi 25.5fFuT %’I gfe eATI® H1 g
forem fean Sme ot eNwd 2.5f5UT A 9 SITaT |1 SIATIS BT I T 82

e 55
e 58
e 53
e 50
Correct Answer :-53

72)

Question Stimulus :-

What is the Least number that must be a_dded to each of 1,3,7 an;l 12 so that the resulting
numbers are in proportion? / 98§ gAdH IEAT P g, SR 1,3,7 T 12 & ST 9T 91T foras
URUMEEREY J@I¢ 3T § 35°?

e 6



e 8

e 3

e 5
Correct Answer :-3
73)
Question Stimulus :-
%th o £ 8/5th of 60 is / 60 BT 8/57 BT 34T §:

e 62

e 72

e 48

e 69
Correct Answer :-72
74)
Question Stimulus :-
7716 of 17/18% of 288 is / 288 T 171831 @1 7/16ﬁ%:

e 119

e 125

e 105

e 215
Correct Answer :-119
75)

Question Stimulus :-

The average weight of 10 persons is 53 kgs. If one person is replaced by another person

whose weight is 63kgs, the average decreases by 1kg. What is the weight of the replaced
person? / 10 AfRAl P 3iId YR 53 fFe 31 fe vo aufe & WM W 63 frea a ter afed &1 @
faar sme, @ sitwra 1 fFa A ge wirar 81 ufeutfie safes &1 g faraar 82

e 71



e 75
e 73
e 77
Correct Answer :-73

76)
Question Stimulus :-

The average age of 5 members of a family is 30 years. When a member of age 22 years leaves the family,
then what will be the average age of the family? / Y URaR & 5 i 31 3NTd 31g 30 T:I'Ef%I uid 22
4 F 3T T TP o UNGR I Bisdl &, dl URaR 1 3fia 3y fara gifi?

® 22 years /22 CL

® 23 years /23 CL]

® 35years /35 CL

* 32 years /3294
Correct Answer :-32 years / 32 CL
77)

Question Stimulus :-

A motor runs for 3 mins and then stops to cool down for 2 mins. For each minute the
motor runs, it consumes 1.5 units of electricity. In 4 hours, how much electricity would it

consume? / U% HIcY 3 fiFe 9@ Tadl 8, e 181 & frw 2 fiFe & ol 81 99 Wi Aler Iadt g, @
Td® fiFe & 98 1.5 SH1S 9ot &1 STHRT Bl g1 4 b | gg fha- fasielt &1 ST suf?

® 144 units / 144 SHTS
e 216 units / 216 Wlﬁ
® 312 units / 312 SBTS
e 388 units / 388 SHTS
Correct Answer :- 216 units / 216 sﬂ?l'é'

78)

Question Stimulus :-



In a school, 65% students are girls. All the students contribute towards raising a fund for social work. All the girls contribute
40% of the total funds. If the total fund to be raised is Rs. 18,550 and the contribution of each boy is Rs. 265, then the

contribution of each girl is: / T faeITera ®, 659 faemif asfeal &1 @it faemif amve o1 & fag wo o
Jem & fore ahrerm wwa g1 @t arsfar $a A &1 40% A Fedl 81 afe $a@ 18,550 FUY FT HI
SCHT 2 Td Td® aed $T GNTGH 265 TUT 2, @) TP dsd! &1 INEH o
® Rs.95.13/%.95.13
® Rs.90.26 /3. 90.26
* Rs. 88.22 / . 88.22
* Rs.85.31/%.85.31
Correct Answer :-Rs. 95.13 / %. 95.13
79)
Question Stimulus :-
Fill in the missing alphabets / & 31&R HRT
ab_aba_b_
® a,b,b
® b,b,b
® a,a,a
® b,a,a
Correct Answer :-a,a, a
80)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 IR val & A 9 91 2 A 1A 1d & THeH IHH 8] 82

T.G. Canon Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 335-3946



(i) T.G. Canoe Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 353-3946

(ii) T.G. Canon Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 335-3946

(iii) T.G. Canoe Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 353-3946

(iv) T.G. Canoe Livery
Duane TeGrotenhuis
San Marcos, Texas

(512) 353-3946

Correct Answer :-ii

81)

Question Stimulus :-



Which one of the following four addresses is NOT EXACTLY same as the other three? / IGL]
IR Udl & | P G TP qTH! 99 & THeH JHH 8l 82

Carlos Alfredo
P.O. Box 300
Viale delle Caraccalla

00100 Rome, ITALY

(i) Carlos Alfredo
P.O. Box 300
Viale delle Caracalla

00100 Rome, ITALY

(ii) Carlos Alfredo
P.O. Box 300
Viale delle Caraccalla

00100 Rome, ITALY

(iii) Carlos Alfredo
P.O. Box 300
Viale delle Caracalla

00100 Rome, ITALY

(iv) Carlos Alfredo
P.O. Box 300
Viale delle Caracalla

00100 Rome, ITALY

(i)



e (ii)
e (iii)
e (iv)
Correct Answer :-(iv)

82)
Question Stimulus :-

A man travels a certain distance at a speed of 40 kmph and returns by
increasmg his speed by 50%. What is his average speed for the whole journey?

/ U@ fad Wﬁﬁaﬂwmﬁﬂﬂuﬁmﬁﬁ q BT g YT aRet § g wfq ot
50% aaa‘m%l & fore Iuat sitwa nifa =« 82

e 50 kmph / 50 fet ufader

e 46 kmph / 46 foH} ufereer

e 48 kmph / 48 fodY ufereer

e 52 kmph / 52 f&Ht ufader
Correct Answer :-48 kmph / 48 fof} ufareer
83)
Question Stimulus :-

An article bought for Rs.76 was sold at a profit of Rs.12.50.Find the selling price? / TP d¥] o Tug

76 H WRIGT T 4T 3G FTU 12.50 & ATH & A1Y 94T 1471 fasha e J1d B
 87.50
* 85.00

* 88.50

° None/ﬂ”ﬁgqﬁ

Correct Answer :-88.50

84)
Question Stimulus :-

Find the next term in the series 9,14,24,39, / $RadT § SATET U JId P 9,14,24,39,




e 69
e 59
e 79
e 49
Correct Answer :-59

85)
Question Stimulus :-
Find the next term in the series. / $%@aT ® 3RTEAT Yqg JAd Eﬂﬁrm
1,2,3,5,8,
e 17
e 21
e 13
e 25
Correct Answer :-13
86)

Question Stimulus :-

In a certain language ‘dum dam domn’ means ' white sweet sugar’and ‘bamn samn domn’
means ‘shirt was white’ . Then in that language the word ‘domn’ is used for: / f&<t @™
HTYT A *dum dam domn’ &1 Hdad % * white sweet sugar’ 3R ‘bamn samn domn’ &T Hddd %
‘shirt was white’ | 9 39 4T # ¥k ‘domn’ 9P 1T UANT BlaT @:

® white
® sweet
® sugar
® shirt
Correct Answer :-white

87)

Question Stimulus :-



In the sequence shown below, which figure comes next? / R fewrd T w9 A srTett Wﬁf CaRk:|
g2

N
Y

Correct Answer :-

88)
Question Stimulus :-

If Saddu says, “Kannu’s father Rambo is the only son of my father-in-law, Mithu,” then how is Lappu, who is the sister of

Kannu, related to Mithu? / af¢ WG Hedl 8, "oy P fUar Y&l W IR, Y $T sHaiar de1 8, @ aug, <Y fs
oY P! 98 ¢, Ay ¥ $§ Fafta @2

® Niece / Yot



* Wife / Ul
® Daughter-in-law / 98
® Granddaughter / iG]

Correct Answer :-Granddaughter / Tidt

89)

Question Stimulus :-
A > B means that A is the husband of B/ A > B Adad e fd A, BHT1 UM &
A # B means that A is the father of B/ A # B3I UdAd g A, B & a1 g

A @ B means that A isthe sisterof B/ A@ B ®TAdUd ¢ A, BBl dg9 ¢

A = B means that A is the motherof B/ A = B@IHAAd ¢ A, BB AT §

A * B means that A is the brotherof B/ A * B?:b‘r'FIT-IFW%A, Bﬂv‘r’l-l'li%

If a relationship is represented asH > O T

= S = E
following is always TRUE? / Qi U& §§YH > O = S * T
T B9 9T U I 872

> L, then, which of the

= E > LYquiarsmar g, &, Fa &
® There are two males in the family. / gfarR | E.P[ LSy %'I

e L is the granddaughter of O. / L, O 31! Uil &1

® His the father-in-law of T. / H, T & W%'I

e EisthegrandsonofH. / E, H Wtﬁ?ﬂ%l

Correct Answer :-E is the grandson of H. / E, H T GidT 2

90)
Question Stimulus :-

A is father of P & Q. K is son-in-law of P. L is daughter of Q. J is married to L. How K is related to J? / A,
PR Q& AT ?I K, P +13ME 21 L, Q BT 3t 81 J, L A It-3a1 81 K, J A A Gafda 82

e Husband of cousin / T3 984 &7 ufd
® Brother-in-law / =|=|3ﬁ€
e Cousin / TERT 141%

e Husband of cousin of wife / Tl BT T 984 BT ufd



Correct Answer :-Husband of cousin of wife / Uell &1 TR} 989 &7 ufd

91)
Question Stimulus :-

Which of the following is the mirror image of VISUAL? / 14 & & ®I9 AT VISUAL &T guur yfafaea g2
o AIRNYT
o NIZNYT
o MIZAYT
o AEZNYT
Correct Answer :-AIZOYT
92)

Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

will be: / 9 Uy ¥, Ugd AT T gWN Aeg F WY 5l UPR | FI$ Tay g1 9 TR Weg &1 N g &
1Y It YR BT JaY g1 I18T, df DUT g R

Dear : cheap :: stringent: ? / g gwr: 9= ?
® Lenient / 3Gk
® Stronger / HuIdd
® Weak / HHVR
® Vehement / Gdd
Correct Answer :-Lenient / 3GR
93)

Question Stimulus :-

How many five digits numbers can be formed with 1,2,3,4,5 (without repeating any digit) which are divisible
by 52 /1,2, 3, 4,5 9 fpa-it ura 3iep) areit J@mai &1 fAmtor farar s waar 8 (e fdt siw &5t
gAfgf ) <t f s 9@ faursa gl

e 24

e 48



e 120

e 72
Correct Answer :-24
94)

Question Stimulus :-

P,Q,R, S, and T are doctors working in a hospital with their cubicles in a row. S and T are not side by
side. T is at the left end. P’s cabin is next to Q’s, and R’s cabin in next to S’s. P is to the right of Q and T.

There is at least one person between S and Q. / P, Q, R, S,GﬁTTW mﬁmm@.ﬁm%ﬁﬁ%
HRPa TP R A I SR T T I TTR RR R B PFTIFRNA QP TA AR, SRR FTF A F
TAHEI P, Q3R T P SR RF 81 S 3RQ & T $H A 4 Us Al 2|

The position of S is: / S BT R ?:

e extreme left / 3fcdd IR

e second from the left / I LN

® fourth from the right / S | T

e extreme right / 3/d g
Correct Answer :-extreme right / 3/cdd i
95)

Question Stimulus :-

What is the day on 31st October 20082 / 31 3FgaR 2008 HY B 4T fa=1 g2
® Friday / YhdR
* Tuesday / HTadR
® Wednesday / §YdAR

® Thursday / AR

Correct Answer :-Friday / gPdR

96)
Question Stimulus :-

Select the statement which is the logical equivalent to the given statement. / 9§ %Y ﬂﬁ'&

S 9 @1 =T A 33 T $Y9 F 99H 7



If the creature is a bird, it has feathers. / af¢ et Rifsar g, @ 39F v@ g1
® Some birds have feathers. / P& ﬁ'-l'%'cﬁ' & ug %:I
® All feathered creatures are birds. / I U@ arat ueft ﬁl’%’q}f %'I
® Some birds do not have feathers. / P& ﬁl’%ﬁ * LG T-Iﬁ ?Iﬁl
® No feathered creatures are birds. /aﬁ's‘ ft vg ara W&ﬁ ﬁl’%’lﬁ' :I'&pf %'I
Correct Answer :-Some birds have feathers. / $© faf$al & wa 1
97)

Question Stimulus :-

Select the statement, which is the logical equivalent to the given statement. /

98 BYF A S 9 31 €fke A @A T FYF & J9HE g

“If you know the answer, then you don’t guess.” / “uf¢ 314 IR S &, ) 3MY
AT 9d emga|”

® |f you don’t know the answer, then you guess. / afe 3T IR 7'|'&& CIEG %., ar 3my STJHTA ?FTIE'&I
® You don’t know the answer or you don’t guess. / 3Td 3TIY T'Iﬁ CIEG % T 319 JHTA T'Iﬁ GRIG] %'I
® You know the answer and you guess. / 3[TU 3t CIEG % 3R 3y SIJHTT UG %'I

® |f you don’t guess, then you know the answer. /!T% ST 3{JHTA T'I_bpf GUIG] %; al 39 IR ATd %'I

Correct Answer :-You don’t know the answer or you don’t guess. / 3fTJ 3T T-I'&pf CIEG % g1 319 MJHTT
T8 T gl

98)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg e E[ﬁ-l’&
o 23 T Hy=T 3R FAepuf & aR § & 8:

Statements: / ®Y:

All men are buckets. / T4 angHt aifeear &1
Some buckets are cosmonauts. / $© Tifeedr siafer ardt B
All cosmonauts are married. / gt a‘rerﬂ&r It T«’ITEﬁ-EJ&T %'I



Conclusions: / fAp:

i.Some buckets are married. / 3 Sifecdl AEI-IST B
ii.All men might not be married. / 9 3meHt =Y-31aT 71EY 81 THAI

® [f only conclusion I follows / afe Faa ey 1| Reaar @

e If only conclusion II follows / gfe Fad e 11 fAeadar %

* If both conclusion I and II follows / af¢ s 1 3R 11 giHY Rwad &

e If none of the conclusion I and II follows / af¢ fepdrsiRIda aﬁé T8I e %

Correct Answer :-If both conclusion I and II follows / af¢ fAspd 1 3R 11 g Frpard &

99)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 fdwe g3
i 3 T FyET R el & IR F 9 @

Statements: / $YH:

All guns are roses. / I 3gd o B
Some roses are newpapers. / $9 dd TR B

Some newspapers are butter. / $9 3RATR HRGT %'I

Conclusions: / fAwsd:

i.All roses might be butter. / mﬂww ﬁﬂﬂﬁ%l

il.Some guns are definitely newspaper. / $9 ?ﬁa? Afta & sraar %'I
* If only conclusion I follows / af¢ Faa sy | fFAreaar @
e If only conclusion II follows / af¢ Faa ey 11 Reaar
* If both conclusion I and II follows / afg st 1 3R 11 ST e §
® If none of the conclusion I and II follows / Tlﬁ fepd IR A @ ﬁ'&f T-Iﬁ Aeaar %



Correct Answer :-If none of the conclusion I and II follows / af¢ Frspd 1 IR I A A aﬁ'é 81 Aeaan
?

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fdee ﬂﬁ'a
St fad T wyAl iR fFrewut & IR | wE &

Statements: / ®YA:

Some pebbles are sand. / T3 HHs Ug T
All sand are dunes. / 9 gt fid g1

All dunes are camels. / I fid 3 T

Conclusions: / fAwsd:

i. All pebbles are definitely camels. / 9! dos Afa & &3 21

ii. All sand are definitely camels. / T figt fAfda € $o €1
e If only conclusion I follows / af¢ Faa sy | fFAreaar @
e If only conclusion II follows / af¢ Faa e 11 Reaar
e If both conclusion I and II follows / af¢ frsd 1 3R 11 G fApad &
® If none of the conclusion I and II follows / Tlﬁ fepdIsiRIIA @ ﬁé qﬁ A %

Correct Answer :-If only conclusion II follows / gfe Faa ey 11 fApddar g



